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@® 24— (7+12) @ 43-(24+9)
@16+(14—7) @ 60-(24-7)

® 36-(12+7)+4
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@D 56+ 8+ (6x2) @ (56+8)+6x2
@) (56 + 8+ 6)x2 @ 56+ (8+6)x2
® 56+ (8 +6x2)
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@ 56+8+ (6x2) =19
@ (56 +8) +6x2=19
® (56 +8+6) x 2 =26
@56+ (84+6)x2=38
®56+(8+6x2)=2
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821 - 29 = 792, 792 + 12 = 66

@® 821-29+12 =66 @ 821 - (29 +12) =66
(@)(821—29)+12:66 @ (821 -29+12) =66

® (821 +12) - 29 = 66
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10-6x2-7+1=2

D 10-6x(2-7+1)=2 @ 10-(6x2-T7)+1=2
® 10-6x(2-7)+1=2 @ 10-(6%x2)-7T+1=2

(@)(10—6)x2—7+1:2

(10-6)x2-7T+1=4x2-7+1
=8-7+1=14+1=2
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30+5%x9010 =065
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@D 304 5%x9 +10 = 30+45+10 = 75 +10 = 85
@304+5x9-10=30+45-10="75-10 =65
®30+5x9+10=30+45+10

@ 304 5x9x 10 = 30 + 450 = 480




